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202495 20& ASS0HIISESSAH Al
SN OISR D
2 DI ZMESEH(MISX /I ZHUSEE)
telr =220 NA(A220IISSEH) (EHe: &)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
F2= X 2,996,034 3,061,483 A\65,449
= 234,237
== 58,559
Al 2,703,238
DIESRS S by 2,844,141 2,863,196 19,085
= 234,237
== 58,559
Al 2,551,345
=220 XN (A=2SHII=ELSIH) 2,844,141 2,863,196 19,085
= 234,237
== 58,559
Al 2,551,345
_Cll;EE,loiﬂil‘Eﬂlgg‘:'?E(/\lE S22 ALHHl £ 275,796 297,815 A22,019
= 220,637
s 55,159
307 212t01 & 275,796 297,815 A22,019
= 220,637
< 55,159
012 & 2/=H 275,796 297,815 A22,019
Osss0tl 275,796,000 275,796
= 220,637
S 55,159
SSHAXEHMBAER(A=SSH HE2Y AHI) 17,000 19,332 AN2,332
= 13,600
= 3,400
201 Zer2d| 10,000 10,000 0
= 8,000
s 2,000
01 At2t2l bl 10,000 10,000 0
(OXII=I= {0 = bS]l 10,000,000 10,000
= 8,000
[ 2,000
202 Ol 7,000 9,332 A2,332
= 5,600
= 1,400
01 2LHOHI 7,000 9,332 N2,332
O2z=0 HEH| 7,000,000 7,000
= 5,600
= 1,400
EZHAXSHMBAZE(AES0 =L XH) 2,551,345 2,546,049 5,296
308 NHXISHHSO0IH 2,551,345 2,546,049 5,296
07 MASH2LIRES 2,551,345 2,546,049 5,296
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A= 30HII2S

CLRE)
A BB (B) - MIRAY - BAS Ofl bt T B RS2
Oc|gEsXiEH| AlBIRE=2
2,551,345,000& 2,551,345
HREs (==X 151,893 198,287 A46,394
BEXNE(QE20HIISELSA) 151,893 198,287 AN46,394
=RSPNE= 151,893 198,287 AN46,394
802 Brat=2J|Et 151,893 198,287 AN46,394
01 =22 X3ZLEZS 61,174 98,404 237,230
O=18x3 ez 61,174,000& 61,174
02 Al - SHIEZ=SEHa3 15,295 24,602 A9,307
O&HIBXEZ Bratgd 15,295,000 15,295
03 J|Etetat 3 S 75,424 75,281 143
OO0kt Bt 3,150,000& 3,150
ORY0IS3 &=+ et 65,000,000& 65,000
OF AR ZH| Bt S 7,274,000 7,274






